

$$r \cos^2 \theta + r^2 \sin^2 \theta = 1 \quad \neq 1$$

$$(-r \cos \alpha - r \cos \beta)^2 + (-r \sin \alpha - r \sin \beta)^2 = 1$$

$$r^2 \cos^2 \alpha + 2r^2 \cos \alpha \cos \beta + r^2 \cos^2 \beta + r^2 \sin^2 \alpha + 2r^2 \sin \alpha \sin \beta + r^2 \sin^2 \beta = 1$$

$$2r^2 \cos(\beta - \alpha) = -1, \quad r \cos(\beta - \alpha) = -\frac{1}{2}, \quad 0 < \beta - \alpha < 2\pi \neq 1 \quad \beta - \alpha = \frac{2}{3}\pi, \frac{4}{3}\pi \quad \text{--- ①}$$

$$r \cos^2 \alpha + r^2 \sin^2 \alpha = 1 \quad \neq 1$$

$$(-r \cos \beta - r \cos \theta)^2 + (-r \sin \beta - r \sin \theta)^2 = 1$$

$$r^2 \cos^2 \beta + 2r^2 \cos \beta \cos \theta + r^2 \cos^2 \theta + r^2 \sin^2 \beta + 2r^2 \sin \beta \sin \theta + r^2 \sin^2 \theta = 1$$

$$2r^2 \cos(\theta - \beta) = -1, \quad r \cos(\theta - \beta) = -\frac{1}{2}, \quad 0 < \theta - \beta < 2\pi \neq 1 \quad \theta - \beta = \frac{2}{3}\pi, \frac{4}{3}\pi \quad \text{--- ②}$$

①  $\neq 1$   $\beta - \alpha = \frac{4}{3}\pi$  とすると

②  $\neq 1$   $\theta - \beta = \frac{2}{3}\pi$  のとき  $\theta = \beta + \frac{2}{3}\pi = \alpha + 2\pi \neq 1$   $\theta > 2\pi$  とは不適

$\theta - \beta = \frac{4}{3}\pi$  のとき  $\theta = \beta + \frac{4}{3}\pi = \alpha + \frac{8}{3}\pi \neq 1$   $\theta > 2\pi$  とは不適

$\therefore \beta - \alpha = \frac{2}{3}\pi$

②  $\neq 1$   $\theta - \beta = \frac{4}{3}\pi$  のとき  $\theta = \beta + \frac{4}{3}\pi = \alpha + 2\pi \neq 1$   $\theta > 2\pi$  とは不適

$\therefore \theta - \beta = \frac{2}{3}\pi$